
Exercice complémentaire séquence 99 page 132-133

Complète selon le modèle :

327 x 3 = (300 x 3) + ( 20 x 3) + (7 x 3)
=       900   +       60     +     21
=                         981

456 x 4 = …..................................................
= …..................................................
= …..................................................

502 x 5 = …..................................................
= …..................................................
= …..................................................

358 x 3 = …..................................................
= …..................................................
= …..................................................
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